
  

36
10

Quelle est l'écriture décimale de  
                                  

            ? 



  

Correction :

36
10

=3,6

Trente-six dixièmes

Centaines 
de mille

Dizaines de 
mille

Unités de 
mille

Centaines Dizaines Unités Dixièmes Centièmes Millièmes

3 6



  

4+
3

10

Quelle est l'écriture décimale de  
                                  

               ? 



  

Correction :

4+
3

10
=4,3

Centaines 
de mille

Dizaines de 
mille

Unités de 
mille

Centaines Dizaines Unités Dixièmes Centièmes Millièmes

4 3



  

4,53=
453
.....

Compléter :



  

Correction :

4,53=
453
100

Centaines 
de mille

Dizaines de 
mille

Unités de 
mille

Centaines Dizaines Unités Dixièmes Centièmes Millièmes

4 5 3



  

Dans 8,36 , le nombre de

centièmes est ?



  

Correction :

Centaines 
de mille

Dizaines de 
mille

Unités de 
mille

Centaines Dizaines Unités Dixièmes Centièmes Millièmes

8 3 6

Dans 8,36 , le nombre de

centièmes est 836.



  

 Calculer :

6,2+4,9



  

Correction :

6,2+4,9=11,1
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